Final 2013 — Find the interval(s) on which f(z) =z + 1
is increasing. Find the local extrema.
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Final 2011 — Consider the function f(z) = x3+§2:§”3_3.
[t’s first derivative is

fl(z) = 3

On which intervals is f ,'increasing/ decreasing? Identify
local maxima/minima. ()5t the X cescdinate,)
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Final 2011 — Consider again the function f(z) = 2o —2r-3

523
It’s first and second derivatives are given by
2 2 2
oy (@°—1)(z —6) by oy 2x(xt +9)
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On which intervals is f(x) concave up? On which intervals
is f(x) concave down? Find the coordinates of all local
maxima, local minima, and inflection points.
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Cosedinates of iaflection pfo
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